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Note: 1.
Each question carries 2 marks

2. There will be no negative marking.

3. Each question has four possible answers out of which one is correct.

4. Candidates are required to darken the corresponding circle in the OMR answer-sheet supplied separately.

1. The term tonoplast is associated with all

a. Prokaryotic cells

b.  Eukaryotic cells

c.   Eukaryotic animal cells           d.   Eukaryotic plant cells
2. The major role of minor elements inside the organisms is to play the role of

a. Co-factors of enzymes            b. Building blocks of important amino acids

c.    Constituents of hormones        d. Binder of cell structure 

3. Which one of the following RNA is short lived?

a. t-RNA



b. m-RNA
c.   r- RNA



d.All of these

4. The tertiary structure of proteins containing amino aid cysteine is achieved through

a. Hydrogen bonds                    b.  Disulfide bonds and covalent bonds
c.   Vander waals force
         d.    Ionic bonds

5.  Two proteins, haemoglobin and lysozyme have the molecular weight as 68,000 and  14,000 Da, respectively and pH 6.8 and pH 11.0 as the isoelectric points.  A mixture of these two proteins could be separated by

a. Ion-exchange chromatography       b.     Gel filtration chromatography

c.   Electrophoresis at pH 7.0                d.      All the above
6.   Which has the highest cholesterol content?

a. HDL                                                 b. LDL

c.   VLDL                                               d. Chylomicron
7.  Transposable elements were first discovered in

a. Maize                                             b. Pea

c.   Arabidopsis                                    d. Drosophila

8. A radioactive isotope has a half-life of one year.  How much of a sample of 40 gram will be left after 4 years?

a. 2.5 g                                                        b.  5.0 g

c.   7.5 g                                                         d.  20g

9.  If the molecular mass of an amino acid is 150 Da, the molecular mass of a tripeptide will be

a. 450                                     b. 486

c.       504                                      d. 414

10. Which of the following hormones brings about stem elongation?

a. Ethylene                                             b. Gibberellins

c.   Cytokinins                                          d.  ABA

